& GARDCO PureForm / EcoForm

P26, P34, & ECF2

by ®)ignify

Area Luminaire

PureForm & EcoForm Luminaire Mounted on PTF2 (3-1/2” 0.D.), PTF3 (4-1/2” O.D.) or PTF4
(5.00” 0.D.) Pole Top Fitter

POLE TOP PTFZ (2) #10-32 PHILLIPS PAN HEAD SCREWS
FITTER CAP\ 3/8” HEX NUT AND SPLIT LOCK WASHER
LUMINAIRE LEADS

J= = |

STRAIN RELIEF ROD

Feamiits)
1 f
TAPE OR WIRE TIE/Z AV,
SUPPLY & GROUND/%/
WIRES H A
Z SPLIT LOCK WASHER AND FLAT WASHER
3/8-16 X 1.75” BOLTS4T] U
SAFETY CABLE
0 0 FIG. 1
(8)3/8” SOCKE'I<
SET SCREWS ( X
he 9
e DIA—‘———‘ FITTER STOP
ARM COVER

(2) #8-32 PHILLIPS PAN
HEAD SCREWS

POLE TOP PTF3/PTF4

FITTER CAP (2) #10-32 PHILLIPS PAN HEAD SCREWS
3/8” HEX NUT AND SPLIT LOCK WASHER
STRAIN RELIEF ROD
—= . LUMINAIRE LEADS
A ==
TAPE OR WIRE TIE— e = Saal %
SUPPLY & GROUND_L—" =
WIRES H Hl
) il SPLIT LOCK WASHER AND FLAT WASHER
3/8-16 X 1.75” BOLTS <K 7
5 u TSSAFETY CABLE FIG. 2
A )
FITTER STOP
(8) 3/8” SOCKET,
SET SCREWS
N
o
IIXII D|A /
ARM COVER

(4) #8-32 PHILLIPS FLAT HEAD SCREWS\

1/29/2019 page 1 www.gardcolighting.com PN 442294663261 Rev A



PureForm & EcoForm Luminaire Mounted on PTF2 (3-1/2” 0.D.),
PTF3 (4-1/2” 0.D.) or PTF4 (5.00” 0.D.) Pole Top Fitter

| e
TENON HEIGHT F-:-I(TPEER Di(A. @) USED ON TENON SIZE
! PTF2 3-1/2" | 2-3/8" TO 2-1/2" O.D. X 4" HIGH
PTF3 4-1/2" | 3"TO 3-1/2" O.D. X 6" HIGH
PTF4 5" 3-1/2" TO 4" O.D. X 6" HIGH

Pole with Tenon (See Table)

FIG.3

1. Open Arm Cover by loosening (2) #8-32 Phillips Pan Head Screws located on bottom of mounting arm (screws are captive and will re-
main on door). Door is attached to arm with a safety cable and can be removed if necessary. (See Fig. 1 & 2)

2. Attach luminaire/arm assembly to Pole Top Fitter by lining up the threaded hole on PTF to bottom hole on Arm.

3. Thread the bottom 3/8” bolt, lock washer, and flat washer into the lower tapped hole of the PTF from the inside of arm assembly and
tighten. (See Fig. 1,2 & 4)

4. Pass the top 3/8” bolt, lock washer, and flat washer through the arm and into the top hole of the PTF. Secure with 3/8” lock washer
and hex nut. Torque both bolts to approximately 45 FT.-LBS.

5. Install the Pole Top Fitter/Luminaire onto the Tenon. Top of the tenon must seat against the fitter stop. Level and secure with (8) 3/8”
socket set screws. Torque to approximately 20 FT.-LBS.

6. Install strain relief rod through two holes in top of fitter, and route supply and ground wires over the strain relief rod. Tie off with tape
or wire tie as shown.

7. Connect field supply and ground wires to luminaire leads. Make wire connections per NEC or applicable local codes. Secure with wire
tie.

8. Install PTF Cap and secure in place with (2) #10-32 Phillips Pan Head Screws.

9. Install Photo Control in housing if used.

10. Close Arm Assembly Cover and secure with (2) #8-32 Phillips Pan Head Screws.

11. Apply a bead of suitable weatherproof sealant to horizontal top, vertical left and right edges of Arm where it contacts the pole to pre-
vent water entry. (See Figure 5)
12. Energize Luminaire to test installation.

PTF2 PTF3/PTF4
}
| 9‘35
p406— ¢ Ao ﬂ
S| 175
175 ! 3‘f4
O — am
3/8-16 UNC-2B—| ? l
\{%} Ly
@
@

1/29/2019 page 2 www.gardcolighting.com PN 442294663261 Rev A



PureForm & EcoForm Luminaire Mounted on PTF2 (3-1/2” 0.D.),
PTF3 (4-1/2” 0.D.) or PTF4 (5.00” O.D.) Pole Top Fitter

ADD SILICONE TO
THESE AREAS

®ignify

2019 Signify Holding. All rights reserved. This document may be subject to change. Signify North America Corporation Signify Canada Ltd.

No representation or warranty as to the accuracy or completeness of the information 200 Franklin Square Drive, 281 Hillmount Road,

included herein is given and any liability for any action in reliance thereon is disclaimed. Somerset, NJ 08873 Markham, ON, Canada L6C 253
All trademarks are owned by Signify Holding or their respective owners. Telephone 855-486-2216 Telephone 800-668-9008

1/29/2019 page 3 www.gardcolighting.com PN 442294663261 Rev A




